The Knights: Palamon and Arcita

English

Lesson 3 of ‘The Canterbury Tales’: The Knight's Tale

Mr. Posthill
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Sentence Expansion
Copy the following three sentence openings and expand

1. Theseus saved Palamon and Arcita’s lives

because ...

2. Theseus saved Palamon and Arcita’s lives, but ...

3. Theseus saved Palamon and Arcita’s lives, so ...
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Challenge Question [I]

Pause the video and answer the question below.

Do you think that Theseus was being chivalrous in
Nhis behaviour towards Palamon and Arcita?
You should consider:

e Theseus' actions

e Theseus motive (reason) behind his actions

e How other characters may feel about Theseus'’
actions.
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